BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HEH 5 z 5
AGERT Hh I AREHET 1,106 1,440 1,418 2,858
RiEHhig K 797 875 907 1,782
2K BT 7 $h 32§ AHET 7 205 206 235 441
BT B Hhig ARETER 866 952 1,050 2,002
TR b i TR 1,051 1,236 1,398 2,634
=/ Eihig B/E 476 554 597 1,151
K2R Jﬁ’ﬁ‘m 195 216 270 486
Hma 105 145 154 299
iR i iR 266 314 360 674
s HAR W 97 104 140 244
AR KE 864 999 1,032 2,031
it 2 Ehis dzE 462 505 525 1,030
B M-Af 164 187 195 382
LA 7ot R 193 217 230 447
F& Hhig Be 2,869 3,455 3,897 7,352
HHE A Hhig HES 1,758 2,096 2,329 4,425
FRAE) St KiZ)IS1~4TH 784 972 1,067 2,039
FEAE )& A2 )II85~9T B 1,486 2,296 2,328 4,624
M B A Hhig MRS 2,253 3,309 3,365 6,674
HE3E A Hhig HmES 2,260 3,330 3,393 6,723
LA Hhig wIlUE 1,056 1,519 1,531 3,050
=11 19,313 24,927 26,421 51,348

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X HEH 5 z i
" e i3 H 183 247 291 538
AR FafaH 412 563 603 1,166
J6 3 B #hisg FEE 409 576 586 1,162
B E Hhig BETE 664 872 908 1,780
HEF 54 55 81 136
- LR 140 178 188 366
BRI B3 232 344 374 718
ek 45 44 70 114
|1 54 74 92 166
tig2 130 151 200 351
IRt ERithis £3R3 75 102 119 221
+ir4 52 64 73 137
i85 96 137 138 275
Lige 154 173 206 379
iR7 67 88 81 169
L inraEbitig tims8 92 122 115 237
+3m9 111 134 148 282
ti\E10 89 101 126 227
WERXsN 28 28 28 56
= e X 4% 5 5 5 10
R4 78 67 78 145
aEt 3,170 4,125 4,510 8,635

Tr28%F2HKH
THH 5 5 X H

BAAERARD 28,227 35,678 38,272 73,950
SEAERAO 205 251 237 488
KENHAO 28,432 35,929 38,509 74,438

B A Ri#- A Q453 (1B mAHED)

1T g £ AR X HEH 5 g 5

b b =] 249 302 323 625
BRI b N 125 157 176 333
=H 114 147 161 308
P B 67 86 95 181
IR PR AL KE 210 255 254 509
EIEFE 18 27 27 54
FEFTHT 175 176 216 392
HTHET Hh iz h#TET 132 148 157 305
L FrET 129 165 151 316
FaET 174 215 256 471
FG T 17 25 30 55
i B Hhig chET 36 31 42 73
BT 100 110 122 232
& 88 91 121 212
i 142 149 188 337
" ERER—TH 51 56 71 127
BRI A1 ERER=TH 288 340 357 697
ERER=TH 50 69 80 149
Rill 63 58 70 128
Lz k 36 24 39 63
it 41 53 53 106
hnyse BAR ik ING L 59 57 60 117
INS T 72 68 74 142
5 76 81 102 183
(LI 26 37 38 75
HERE 101 104 115 219
FeE) 5 116 138 148 286
AR 98 109 138 247
[ic] 47 51 56 107
R R Hh i ® 33 38 39 77
BEKE& 65 67 82 149
IhVEF 72 76 97 173
mp 38 44 52 96
B 36 40 45 85
=i 34 38 43 81
B/ 13 15 20 35
N 5 5 4 9
7/ 31 4 44 85
ETF 21 27 27 54
2 B2 il ITFF 16 17 21 38
e 10 14 11 25
=P 6 9 15
i35 4 3 7
N 14 12 16 28
bus 32 42 52 94
AR 46 56 72 128
FIN% & i EIGA= 2,365 2,755 2,984 5,739
=1 5744 6,626 7,341 13,967

Tri28FE2 AKRRE

5% HIA R

X5 THHE 5 z H

BARAERAO 28,161 35,639 38,216 73,855

SEAERAO 206 251 241 492

KENMmAA 28,367 35,890 38,457 74,347
(BEH) (BH)

X5 TR 5 5 z B X5 ik 5 = =
BeE—TH 805 893 1,010 1,903 WE—THB 117 150 150 300
HEZTH 557 641 742 1,383 WIL&E=TH 0 0
WE=ZTH 264 317 358 675 WILE=TH 0 0
HemTH 201 248 285 533 WILEMTE 0 0
HWERTH 767 1,003 1,113 2,116 WILERTHB 45 64 70 134
H&EATH 85 111 121 232 WILENRTEB 162 223 226 449
H&EtTH 190 242 268 510 WLEtETHE 382 558 569 1,127

HESE—TH 0 0 WILE/INTE 0 0
HES=-TH 238 322 325 647 WILAATHE 2 2 2 4
HEEB=TH 8 10 9 19 BWLE+TE 187 275 275 550
HEBMTH 0 0 WLE+—TH 130 204 201 405
HEBRTH 306 362 410 772 WueE+=TH 0 0
HEBNTHE 178 218 252 470 WLE+=TH 31 43 38 81
HESETHE 346 392 448 840 INEE 1,056 1,519 1,531 3,050
HEEB/N\THE 380 478 519 997 =11 12,466 16,977 17,910 34,887
HEBATH 302 314 366 680

KZINE—TH 343 418 453 871

KEZJINEZTH 97 118 132 250

KENE=ZTH 344 436 482 918

KZEINEWMTH 0 0

KEINERTH 243 403 391 794

REINEARTE 548 789 789 1,578 (&FH)

KZINELTH 329 497 517 1,014 X5 ik 3 = i

KZINE/NTH 366 607 631 1,238 mmEe—TH 161 195 206 401

KEINEATH 0 0 EmE&E=TH 144 154 172 326
MEE—TH 508 769 728 1,497 ENE&E=TH 138 147 176 323
MEEZ=ZTH 123 200 191 391 FENEEmTH 115 132 146 278
MWRE=TH 245 349 390 739 FEINZEERTH 55 62 62 124
MWREMTH 254 348 370 718 EmnE&E/RTH 165 185 210 395
MEERTH 265 393 401 794 mAmEaetTHE 155 175 207 382
MEENRTH 357 507 508 1,015 EmEa/\TH 190 216 245 461
MWEREETH 283 448 452 900 EmEaenTE 187 209 234 443
MEE/NTH 218 295 325 620 mnEs+TH 180 209 222 431
m\EE—TH 280 322 327 649 EmxEe+—TH 252 299 297 596
W\EE_TH 366 541 537 1,078 EmxEE+=TH 213 270 268 538
BEB=TH 355 549 590 1,139 Emxe+=TH 151 180 195 375
wBEAEMTH 293 431 461 892 Emxae+mTE 121 147 174 321
W\EERTE 366 581 594 1,175 Emxe+ETH 138 175 170 345
BEBANTH 330 585 559 1,144 =111 2,365 2,755 2,984 5,739
WEELTE 270 321 325 646
BES/\TH 0 0

INET 11,410 15,458 16,379 31,837




